# ON HILBERT'S INEQUALITIES WITH ALTERNATING SIGNS 

Chang-Jian Zhao and Wing-Sum Cheung

(Communicated by M. Krnić)


#### Abstract

Some new Hilbert type inequalities with alternating signs are established. These also generalize some existing results of Hilbert type inequalities in the literature.


## 1. Introduction

The well-known Hilbert's double-series inequality can be stated as follows (see [1, p. 253]).

THEOREM. If $p>1, q=p /(p-1)$ and $\sum_{m=1}^{\infty} a_{m}<+\infty, \sum_{n=1}^{\infty} b_{n}<+\infty$, then

$$
\sum_{m=1}^{\infty} \sum_{n=1}^{\infty} \frac{a_{m} b_{n}}{m+n} \leqslant \frac{1}{\sin (\pi / p)}\left(\sum_{m=1}^{\infty} a_{m}^{p}\right)^{1 / p}\left(\sum_{n=1}^{\infty} b_{n}^{q}\right)^{1 / q}
$$

unless the sequence $\left\{a_{m}\right\}$ or $\left\{b_{n}\right\}$ is null.
Hilbert's inequality were studied extensively and numerous variants, generalizations, and extensions appeared in the literature [2-14] and the references cited therein. The research for reverse Hilbert inequalities were published in [15-17] et al. In particular, Pachpatte [18] established some new inequalities similar to the Hilbert's inequality. The main purpose of this paper is to establish some new Hilbert type inequalities with alternating signs.

## 2. Main results

The following inequality involving series of nonnegative terms was established in [18].

Mathematics subject classification (2010): 26D15.
Keywords and phrases: Hilbert's inequality, Hilbert's inequality with alternating signs, Hölder's inequality, Jensen's inequality, Young's inequality.

The first author research supported by National Natural Science Foundation of China (11371334). The second author research partially supported by A HKU Seed Grant for Basic Research.

THEOREM A. Let $p \geqslant 1, q \geqslant 1$ and $\left\{a_{m}\right\}$ and $\left\{b_{n}\right\}$ be two nonnegative sequences of real numbers defined for $m=1, \ldots, k$ and $n=1, \ldots, r$, where $k, r$ are natural numbers. Let $A_{m}=\sum_{s=1}^{m} a_{s}$ and $B_{n}=\sum_{t=1}^{n} b_{t}$. Then

$$
\begin{align*}
\sum_{m=1}^{k} \sum_{n=1}^{r} \frac{A_{m}^{p} B_{n}^{q}}{m+n} \leqslant & C(p, q, k, r)\left(\sum_{m=1}^{k}(k-m+1)\left(a_{m} A_{m}^{p-1}\right)^{2}\right)^{1 / 2} \\
& \times\left(\sum_{n=1}^{r}(r-n+1)\left(b_{n} B_{n}^{q-1}\right)^{2}\right)^{1 / 2} \tag{2.1}
\end{align*}
$$

where

$$
C(p, q, k, r)=\frac{1}{2} p q(k r)^{1 / 2}
$$

In this paper, we first establish the following Hilbert type inequality with alternating signs.

THEOREM 2.1. Let $p \geqslant 1, q \geqslant 1, \frac{1}{\alpha}+\frac{1}{\beta}=1, \alpha>1$ and $\left\{a_{m}\right\}$ and $\left\{b_{n}\right\}$ be two positive non-increasing sequences of real numbers defined for $m=1, \ldots, k$ and $n=1, \ldots, r$, where $k, r$ are natural numbers. If

$$
\bar{A}_{m}=\sum_{s=1}^{m}(-1)^{s+1} a_{s} \text { and } \bar{B}_{n}=\sum_{t=1}^{n}(-1)^{t+1} b_{t}
$$

then

$$
\begin{align*}
\sum_{M=1}^{K} \sum_{N=1}^{R} \frac{\alpha \beta \bar{A}_{m}^{p} \bar{B}_{n}^{q}}{\alpha M+\beta N} \leqslant & \bar{C}(p, q, k, r, \alpha, \beta)\left(\sum_{m=1}^{K}(K-m+1)\left(\left(a_{2 m-1}-a_{2 m}\right) \tilde{A}_{m}^{p-1}\right)^{\alpha}\right)^{1 / \alpha} \\
& \times\left(\sum_{n=1}^{R}(R-n+1)\left(\left(b_{2 n-1}-b_{2 n}\right) \tilde{B}_{n}^{q-1}\right)^{\beta}\right)^{1 / \beta} \tag{2.2}
\end{align*}
$$

where

$$
\bar{C}(p, q, k, r, \alpha, \beta)=p q K^{1 / \beta} R^{1 / \alpha}
$$

and

$$
\tilde{A}_{m}=\sum_{k=1}^{m}\left(a_{2 k-1}-a_{2 k}\right), \text { and } \tilde{B}_{n}=\sum_{r=1}^{n}\left(b_{2 r-1}-b_{2 r}\right),
$$

and for any positive integer $z$ (lowercase), its capital $Z$ denotes $z / 2$ if $z$ is even, and $(z+1) / 2$ if $z$ is odd.

Proof. Note that any sum with alternating signs can be written in the forms

$$
\sum_{s=1}^{m}(-1)^{s+1} a_{s}=\sum_{s=1}^{M}\left(a_{2 s-1}-a_{2 s}\right)=: \bar{A}_{m}
$$

and

$$
\sum_{t=1}^{n}(-1)^{t+1} b_{t}=\sum_{t=1}^{N}\left(b_{2 t-1}-b_{2 t}\right)=: \bar{B}_{n}
$$

and we assume that $a_{m+1}=0$ and $b_{n+1}=0$. By using the following inequality (see e.g. [19])

$$
\left(\sum_{m=1}^{n} z_{m}\right)^{\alpha} \leqslant \alpha \sum_{m=1}^{n} z_{m}\left(\sum_{k=1}^{m} z_{k}\right)^{\alpha-1}
$$

where $\alpha \geqslant 1$ is a constant and $z_{m} \geqslant 0$, it easily follows that

$$
\begin{equation*}
\bar{A}_{m}^{p} \leqslant p \sum_{s=1}^{M}\left(a_{2 s-1}-a_{2 s}\right) \tilde{A}_{s}^{p-1} \tag{2.3}
\end{equation*}
$$

and

$$
\begin{equation*}
\bar{B}_{n}^{q} \leqslant q \sum_{t=1}^{N}\left(b_{2 t-1}-b_{2 t}\right) \tilde{B}_{t}^{q-1} \tag{2.4}
\end{equation*}
$$

From (2.3) and (2.4), using Hölder's inequality and Young's inequality $c^{1 / \alpha} d^{1 / \beta} \leqslant$ $\frac{c}{\alpha}+\frac{d}{\beta}$ (for $c, d$ non-negative reals), we obtain

$$
\begin{align*}
\bar{A}_{m}^{p} \bar{B}_{n}^{q} & \leqslant p q\left(\sum_{s=1}^{M}\left(a_{2 s-1}-a_{2 s}\right) \tilde{A}_{s}^{p-1}\right)\left(\sum_{t=1}^{N}\left(b_{2 t-1}-b_{2 t}\right) \tilde{B}_{t}^{q-1}\right) \\
& \leqslant p q M^{1 / \beta} N^{1 / \alpha}\left(\sum_{s=1}^{M}\left(\left(a_{2 s-1}-a_{2 s}\right) \tilde{A}_{s}^{p-1}\right)^{\alpha}\right)^{1 / \alpha}\left(\sum_{t=1}^{N}\left(\left(b_{2 t-1}-b_{2 t}\right) \tilde{B}_{t}^{q-1}\right)^{\beta}\right)^{1 / \beta} \\
& \leqslant p q \frac{\alpha M+\beta N}{\alpha \beta}\left(\sum_{s=1}^{M}\left(\left(a_{2 s-1}-a_{2 s}\right) \tilde{A}_{s}^{p-1}\right)^{\alpha}\right)^{1 / \alpha}\left(\sum_{t=1}^{N}\left(\left(b_{2 t-1}-b_{2 t}\right) \tilde{B}_{t}^{q-1}\right)^{\beta}\right)^{1 / \beta} \tag{2.5}
\end{align*}
$$

Dividing both sides of (2.5) by $\frac{\alpha M+\beta N}{\alpha \beta}$ and summing up over $N$ from 1 to $R$ first, and then summing up over $M$ from 1 to $K$, and using again Hölder's inequality and then interchanging the order of summation, we obtain

$$
\begin{aligned}
\sum_{M=1}^{K} \sum_{N=1}^{R} \frac{\alpha \beta \bar{A}_{m}^{p} \bar{B}_{n}^{q}}{\alpha M+\beta N} \leqslant & p q \sum_{M=1}^{K}\left(\left(\sum_{s=1}^{M}\left(\left(a_{2 s-1}-a_{2 s}\right) \tilde{A}_{s}^{p-1}\right)^{\alpha}\right)^{1 / \alpha}\right) \\
& \times \sum_{N=1}^{R}\left(\left(\sum_{t=1}^{N}\left(\left(b_{2 t-1}-b_{2 t}\right) \tilde{B}_{t}^{q-1}\right)^{\beta}\right)^{1 / \beta}\right) \\
\leqslant & p q K^{1 / \beta} R^{1 / \alpha}\left(\sum_{M=1}^{K}\left(\sum_{s=1}^{M}\left(\left(a_{2 s-1}-a_{2 s}\right)_{s}^{p-1}\right)^{\alpha}\right)\right)^{1 / \alpha} \\
& \times\left(\sum_{N=1}^{R}\left(\sum_{t=1}^{N}\left(\left(b_{2 t-1}-b_{2 t}\right) \tilde{B}_{t}^{q-1}\right)^{\beta}\right)\right)^{1 / \beta}
\end{aligned}
$$

$$
\begin{aligned}
= & \bar{C}(p, q, k, r, \alpha, \beta)\left(\sum_{s=1}^{K}\left(\left(a_{2 s-1}-a_{2 s}\right) \tilde{A}_{s}^{p-1}\right)^{\alpha}\left(\sum_{M=s}^{K} 1\right)\right)^{1 / \alpha} \\
& \times\left(\sum_{t=1}^{R}\left(\left(b_{2 t-1}-b_{2 t}\right) \tilde{B}_{t}^{q-1}\right)^{\beta}\left(\sum_{N=t}^{R} 1\right)\right)^{1 / \beta} \\
= & \bar{C}(p, q, k, r, \alpha, \beta)\left(\sum_{m=1}^{K}\left(\left(a_{2 m-1}-a_{2 m}\right) \tilde{A}_{m}^{p-1}\right)^{\alpha}(K-m+1)\right)^{1 / \alpha} \\
& \times\left(\sum_{n=1}^{R}\left(\left(b_{2 n-1}-b_{2 n}\right) \tilde{B}_{n}^{q-1}\right)^{\beta}(R-n+1)\right)^{1 / \beta}
\end{aligned}
$$

This completes the proof.

REMARK 2.1. Taking $\alpha=\beta=2$ in (2.2), we have

$$
\begin{align*}
\sum_{M=1}^{K} \sum_{N=1}^{R} \frac{\bar{A}_{m}^{p} \bar{B}_{n}^{q}}{M+N} \leqslant & \tilde{C}(p, q, k, r)\left(\sum_{m=1}^{K}(K-m+1)\left(\left(a_{2 m-1}-a_{2 m}\right) \tilde{A}_{m}^{p-1}\right)^{2}\right)^{1 / 2} \\
& \times\left(\sum_{n=1}^{R}(R-n+1)\left(\left(b_{2 n-1}-b_{2 n}\right) \tilde{B}_{n}^{q-1}\right)^{2}\right)^{1 / 2} \tag{2.6}
\end{align*}
$$

where

$$
\tilde{C}(p, q, k, r)=\frac{1}{2} p q K^{1 / 2} R^{1 / 2}
$$

This is a new Hilbert type inequality with alternating signs which is different from inequality (2.1) in Theorem A.

REMARK 2.2. By using Cauchy inequality on the right side of (2.6) twice, we obtain the following interesting Hilbert inequality with alternating signs:

$$
\begin{aligned}
\sum_{M=1}^{K} \sum_{N=1}^{R} \frac{\bar{A}_{m}^{p} \bar{B}_{n}^{q}}{M+N} \leqslant & \tilde{C}(p, q, k, r)\left(\sum_{m=1}^{k}(-1)^{m+1} a_{m} \cdot \sum_{m=1}^{K}(K-m+1)^{1 / 2} \tilde{A}_{m}^{p-1}\right)^{1 / 2} \\
& \times\left(\sum_{n=1}^{r}(-1)^{n+1} a_{n} \cdot \sum_{n=1}^{R}(R-n+1)^{1 / 2} \tilde{B}_{n}^{q-1}\right)^{1 / 2}
\end{aligned}
$$

where

$$
\tilde{C}(p, q, k, r)=\frac{1}{2} p q K^{1 / 2} R^{1 / 2} .
$$

The following inequality involving series of nonnegative terms was also established in [18].

THEOREM B. Let $\left\{a_{m}\right\},\left\{b_{n}\right\}, A_{m}, B_{n}$ be defined as in Theorem A. Let $\left\{p_{m}\right\}$ and $\left\{q_{n}\right\}$ be positive sequences for $m=1, \ldots, k$ and $n=1, \ldots, r$, where $k, r$ are natural numbers. Define $P_{m}=\sum_{s=1}^{m} p_{s}$ and $Q_{n}=\sum_{t=1}^{n} q_{t}$. Let $\phi$ and $\psi$ be real-valued, nonnegative, convex, submultiplicative functions defined on $\mathbb{R}_{+}=[0,+\infty)$. Then

$$
\begin{align*}
\sum_{m=1}^{k} \sum_{n=1}^{r} \frac{\phi\left(A_{m}\right) \psi\left(B_{n}\right)}{m+n} \leqslant & M(k, r)\left(\sum_{m=1}^{k}(k-m+1)\left(p_{m} \phi\left(\frac{a_{m}}{p_{m}}\right)\right)^{2}\right)^{1 / 2} \\
& \times\left(\sum_{n=1}^{r}(r-n+1)\left(q_{n} \psi\left(\frac{b_{n}}{q_{n}}\right)\right)^{2}\right)^{1 / 2} \tag{2.7}
\end{align*}
$$

where

$$
M(k, r)=\frac{1}{2}\left(\sum_{m=1}^{k}\left(\frac{\phi\left(P_{m}\right)}{P_{m}}\right)^{2}\right)^{1 / 2}\left(\sum_{n=1}^{r}\left(\frac{\psi\left(Q_{n}\right)}{Q_{n}}\right)^{2}\right)^{1 / 2}
$$

Next, we establish another Hilbert type inequality with alternating signs.
THEOREM 2.2. Let $\left\{a_{m}\right\},\left\{b_{n}\right\}, \bar{A}_{m}, \bar{B}_{n}, \alpha, \beta, M, N, K, R$ be defined as in Theorem 2.1. Let $\left\{p_{m}\right\}$ and $\left\{q_{n}\right\}$ be positive non-increasing sequencesfor $m=1, \ldots, k$ and $n=1, \ldots, r$, where $k, r$ are natural numbers. Define

$$
\bar{P}_{m}=\sum_{s=1}^{m}(-1)^{s+1} p_{s} \text { and } \bar{Q}_{n}=\sum_{t=1}^{n}(-1)^{t+1} q_{t}
$$

Let $\phi$ and $\psi$ be real-valued, nonnegative, convex, sub-multiplicative functions defined on $\mathbb{R}_{+}=[0,+\infty)$. Then

$$
\begin{align*}
& \sum_{M=1}^{K} \sum_{N=1}^{R} \frac{\alpha \beta \phi\left(\bar{A}_{m}\right) \psi\left(\bar{B}_{n}\right)}{\alpha M+\beta N} \\
\leqslant & \bar{M}(k, r, \alpha, \beta)\left(\sum_{m=1}^{K}(K-m+1)\left(\left(p_{2 m-1}-p_{2 m}\right) \phi\left(\frac{a_{2 m-1}-a_{2 m}}{p_{2 m-1}-p_{2 m}}\right)\right)^{\alpha}\right)^{1 / \alpha} \\
& \times\left(\sum_{n=1}^{R}(R-n+1)\left(\left(q_{2 n-1}-q_{2 n}\right) \psi\left(\frac{b_{2 n-1}-b_{2 n}}{q_{2 n-1}-q_{2 n}}\right)\right)^{\beta}\right)^{1 / \beta} \tag{2.8}
\end{align*}
$$

where

$$
\bar{M}(k, r, \alpha, \beta)=\left(\sum_{M=1}^{K}\left(\frac{\phi\left(\bar{P}_{m}\right)}{\bar{P}_{m}}\right)^{\beta}\right)^{1 / \beta}\left(\sum_{N=1}^{R}\left(\frac{\psi\left(\bar{Q}_{n}\right)}{\bar{Q}_{n}}\right)^{\alpha}\right)^{1 / \alpha}
$$

Proof. By the hypotheses, Jensen's inequality and Hölder's inequality, we obtain

$$
\begin{align*}
\phi\left(\bar{A}_{m}\right) & =\phi\left(\frac{\bar{P}_{m} \sum_{s=1}^{m}(-1)^{s+1} a_{s}}{\sum_{s=1}^{m}(-1)^{s+1} p_{s}}\right) \\
& =\phi\left(\frac{\bar{P}_{m} \sum_{s=1}^{M}\left(p_{2 s-1}-p_{2 s}\right) \frac{a_{2 s-1}-a_{2 s}}{p_{2 s-1}-p_{2 s}}}{\sum_{s=1}^{M}\left(p_{2 s-1}-p_{2 s}\right)}\right) \\
& \leqslant \frac{\phi\left(\bar{P}_{m}\right)}{\bar{P}_{m}} \sum_{s=1}^{M}\left(p_{2 s-1}-p_{2 s}\right) \phi\left(\frac{a_{2 s-1}-a_{2 s}}{p_{2 s-1}-p_{2 s}}\right) . \tag{2.9}
\end{align*}
$$

Similarly

$$
\begin{equation*}
\psi\left(\bar{B}_{n}\right) \leqslant \frac{\psi\left(\bar{Q}_{n}\right)}{\bar{Q}_{n}} \sum_{t=1}^{N}\left(q_{2 t-1}-q_{2 t}\right) \psi\left(\frac{b_{2 t-1}-b_{2 t}}{q_{2 t-1}-q_{2 t}}\right) . \tag{2.10}
\end{equation*}
$$

By (2.9) and (2.10) and using Hölder's inequality and Young's inequality, we obtain

$$
\begin{align*}
\phi\left(\bar{A}_{m}\right) \psi\left(\bar{B}_{n}\right) \leqslant & \left(\frac{\phi\left(\bar{P}_{m}\right)}{\bar{P}_{m}} \sum_{s=1}^{M}\left(p_{2 s-1}-p_{2 s}\right) \phi\left(\frac{a_{2 s-1}-a_{2 s}}{p_{2 s-1}-p_{2 s}}\right)\right) \\
& \times\left(\frac{\psi\left(\bar{Q}_{n}\right)}{\bar{Q}_{n}} \sum_{t=1}^{N}\left(q_{2 t-1}-q_{2 t}\right) \psi\left(\frac{b_{2 t-1}-b_{2 t}}{q_{2 t-1}-q_{2 t}}\right)\right) \\
\leqslant & \frac{\alpha M+\beta N}{\alpha \beta}\left(\frac{\phi\left(\bar{P}_{m}\right)}{\bar{P}_{m}}\left(\sum_{s=1}^{M}\left(\left(p_{2 s-1}-p_{2 s}\right) \phi\left(\frac{a_{2 s-1}-a_{2 s}}{p_{2 s-1}-p_{2 s}}\right)\right)^{\alpha}\right)^{1 / \alpha}\right) \\
& \times\left(\frac{\psi\left(\bar{Q}_{n}\right)}{\bar{Q}_{n}}\left(\sum_{t=1}^{N}\left(\left(q_{2 t-1}-q_{2 t}\right) \psi\left(\frac{b_{2 t-1}-b_{2 t}}{q_{2 t-1}-q_{2 t}}\right)\right)^{\beta}\right)^{1 / \beta}\right) \tag{2.11}
\end{align*}
$$

Dividing both sides of (2.11) by $\frac{\alpha M+\beta N}{\alpha \beta}$ and then taking sum over $N$ from 1 to $R$ first and then sum over $M$ from 1 to $K$, and using again Hölder's inequality and then interchanging the order of summation, we obtain

$$
\begin{aligned}
& \sum_{M=1}^{K} \sum_{N=1}^{R} \frac{\alpha \beta \phi\left(\bar{A}_{m}\right) \psi\left(\bar{B}_{n}\right)}{\alpha M+\beta N} \\
\leqslant & \sum_{M=1}^{K}\left(\frac{\phi\left(\bar{P}_{m}\right)}{\bar{P}_{m}}\left(\sum_{s=1}^{M}\left(\left(p_{2 s-1}-p_{2 s}\right) \phi\left(\frac{a_{2 s-1}-a_{2 s}}{p_{2 s-1}-p_{2 s}}\right)\right)^{\alpha}\right)^{1 / \alpha}\right) \\
& \times \sum_{N=1}^{R}\left(\frac{\psi\left(\bar{Q}_{n}\right)}{\bar{Q}_{n}}\left(\sum_{t=1}^{N}\left(\left(q_{2 t-1}-q_{2 t}\right) \psi\left(\frac{b_{2 t-1}-b_{2 t}}{q_{2 t-1}-q_{2 t}}\right)\right)^{\beta}\right)^{1 / \beta}\right)
\end{aligned}
$$

$$
\begin{aligned}
\leqslant & \left(\sum_{M=1}^{K}\left(\frac{\phi\left(\bar{P}_{m}\right)}{\bar{P}_{m}}\right)^{\beta}\right)^{1 / \beta}\left(\sum_{M=1}^{K} \sum_{s=1}^{M}\left(\left(p_{2 s-1}-p_{2 s}\right) \phi\left(\frac{a_{2 s-1}-a_{2 s}}{p_{2 s-1}-p_{2 s}}\right)\right)^{\alpha}\right)^{1 / \alpha} \\
& \times\left(\sum_{N=1}^{R}\left(\frac{\phi\left(\bar{Q}_{n}\right)}{\bar{Q}_{n}}\right)^{\alpha}\right)^{1 / \alpha}\left(\sum_{N=1}^{R} \sum_{t=1}^{N}\left(\left(q_{2 t-1}-q_{2 t}\right) \psi\left(\frac{b_{2 t-1}-b a_{2 t}}{q_{2 t-1}-q_{2 t}}\right)\right)^{\beta}\right)^{1 / \beta} \\
= & \bar{M}(k, r, \alpha, \beta)\left(\sum_{s=1}^{K}\left(\left(p_{2 s-1}-p_{2 s}\right) \phi\left(\frac{a_{2 s-1}-a_{2 s}}{p_{2 s-1}-p_{2 s}}\right)\right)^{\alpha} \sum_{M=s}^{K} 1\right)^{1 / \alpha} \\
& \times\left(\sum_{t=1}^{R}\left(\left(q_{2 t-1}-q_{2 t}\right) \psi\left(\frac{b_{2 t-1}-b a_{2 t}}{q_{2 t-1}-q_{2 t}}\right)\right)^{\beta} \sum_{N=t}^{R} 1\right)^{1 / \beta} \\
= & \bar{M}(k, r, \alpha, \beta)\left(\sum_{m=1}^{K}(K-m+1)\left(\left(p_{2 m-1}-p_{2 m}\right) \phi\left(\frac{a_{2 m-1}-a_{2 m}}{p_{2 m-1}-p_{2 m}}\right)\right)^{\alpha}\right)^{1 / \alpha} \\
& \times\left(\sum_{n=1}^{R}(R-n+1)\left(\left(q_{2 n-1}-q_{2 n}\right) \psi\left(\frac{b_{2 n-1}-b_{2 n}}{q_{2 n-1}-q_{2 n}}\right)\right)^{\beta}\right)^{1 / \beta} .
\end{aligned}
$$

The proof is complete.

REMARK 2.3. Taking $\alpha=\beta=2$ in (2.8), we have

$$
\begin{align*}
& \sum_{M=1}^{K} \sum_{N=1}^{R} \frac{\phi\left(\bar{A}_{m}\right) \psi\left(\bar{B}_{n}\right)}{M+N} \\
\leqslant & \tilde{M}(k, r)\left(\sum_{m=1}^{K}(K-m+1)\left(\left(p_{2 m-1}-p_{2 m}\right) \phi\left(\frac{a_{2 m-1}-a_{2 m}}{p_{2 m-1}-p_{2 m}}\right)\right)^{2}\right)^{1 / 2} \\
& \times\left(\sum_{n=1}^{R}(R-n+1)\left(\left(q_{2 n-1}-q_{2 n}\right) \psi\left(\frac{b_{2 n-1}-b_{2 n}}{q_{2 n-1}-q_{2 n}}\right)\right)^{2}\right)^{1 / 2} \tag{2.12}
\end{align*}
$$

where

$$
\tilde{M}(k, r)=\frac{1}{2}\left(\sum_{M=1}^{K}\left(\frac{\phi\left(\bar{P}_{m}\right)}{\bar{P}_{m}}\right)^{2}\right)^{1 / 2}\left(\sum_{N=1}^{R}\left(\frac{\psi\left(\bar{Q}_{n}\right)}{\bar{Q}_{n}}\right)^{2}\right)^{1 / 2} .
$$

This is a new Hilbert type inequality with alternating signs which is different from inequality (2.7) in Theorem B.

REMARK 2.4. By using Cauchy inequality on the right side of (2.12) twice, we
obtain the following interesting Hilbert inequality with alternating signs:

$$
\begin{aligned}
\sum_{M=1}^{K} \sum_{N=1}^{R} \frac{\phi\left(\bar{A}_{m}\right) \psi\left(\bar{B}_{n}\right)}{M+N} \leqslant & \tilde{M}(k, r)\left(\sum_{m=1}^{k}(-1)^{m+1} p_{m} \cdot \sum_{m=1}^{K} \phi\left(\frac{a_{2 m-1}-a_{2 m}}{p_{2 m-1}-p_{2 m}}\right)(K-m+1)^{1 / 2}\right)^{1 / 2} \\
& \times\left(\sum_{n=1}^{r}(-1)^{n+1} p_{n} \cdot \sum_{n=1}^{R} \phi\left(\frac{b_{2 n-1}-b_{2 n}}{q_{2 n-1}-p_{2 n}}\right)(R-n+1)^{1 / 2}\right)^{1 / 2}
\end{aligned}
$$

where

$$
\tilde{M}(k, r)=\frac{1}{2}\left(\sum_{M=1}^{K}\left(\frac{\phi\left(\bar{P}_{m}\right)}{\bar{P}_{m}}\right)^{2}\right)^{1 / 2}\left(\sum_{N=1}^{R}\left(\frac{\psi\left(\bar{Q}_{n}\right)}{\bar{Q}_{n}}\right)^{2}\right)^{1 / 2}
$$

The following inequality involving series of nonnegative terms was also established in [18].

Theorem C. Let $\left\{a_{m}\right\},\left\{b_{n}\right\},\left\{p_{m}\right\},\left\{q_{n}\right\}, P_{m}, Q_{n}$ be defined as in Theorem B. Define $A_{m}=\frac{1}{P_{m}} \sum_{s=1}^{m} p_{s} a_{s}$ and $B_{n}=\frac{1}{Q_{n}} \sum_{t=1}^{n} q_{t} b_{t}$ for $m=1, \ldots, k$ and $n=1, \ldots, r$, where $k, r$ are natural numbers. Let $\phi$ and $\psi$ be real-valued, nonnegative, convex functions defined on $\mathbb{R}_{+}=[0,+\infty)$. Then

$$
\begin{align*}
\sum_{m=1}^{k} \sum_{n=1}^{r} \frac{P_{m} Q_{n} \phi\left(A_{m}\right) \psi\left(B_{n}\right)}{m+n} \leqslant & \frac{1}{2}(k r)^{1 / 2}\left(\sum_{m=1}^{k}(k-m+1)\left(p_{m} \phi\left(a_{m}\right)\right)^{2}\right)^{1 / 2} \\
& \times\left(\sum_{n=1}^{r}(r-n+1)\left(q_{n} \psi\left(b_{n}\right)\right)^{2}\right)^{1 / 2} \tag{2.13}
\end{align*}
$$

Finally, we establish the following new Hilbert type inequality with alternating signs.

THEOREM 2.3. Let $\left\{a_{m}\right\},\left\{b_{n}\right\},\left\{p_{m}\right\},\left\{q_{n}\right\}, \bar{P}_{m}, \bar{Q}_{n}, \alpha, \beta, M, N, K, R$ be as defined in Theorem 2.2. Define

$$
\bar{A}_{m}=\frac{1}{\bar{P}_{m}} \sum_{s=1}^{m}(-1)^{s+1} p_{s} a_{s} \text { and } \bar{B}_{n}=\frac{1}{\bar{Q}_{n}} \sum_{t=1}^{n}(-1)^{t+1} q_{t} b_{t}
$$

for $m=1, \ldots, k$ and $n=1, \ldots, r$, where $k, r$ are natural numbers. Let $\phi$ and $\psi$ be real-valued, nonnegative, convex functions defined on $\mathbb{R}_{+}=[0,+\infty)$. Then

$$
\begin{align*}
& \sum_{M=1}^{K} \sum_{N=1}^{R} \frac{\alpha \beta \bar{P}_{m} \bar{Q}_{n} \phi\left(\bar{A}_{m}\right) \psi\left(\bar{B}_{n}\right)}{\alpha M+\beta N} \\
\leqslant & \bar{C}(1,1, k, r, \alpha, \beta)\left(\sum_{m=1}^{K}(K-m+1)\left(\left(p_{2 m-1}-p_{2 m}\right) \phi\left(\frac{p_{2 m-1} a_{2 m-1}-p_{2 m} a_{2 m}}{p_{2 m-1}-p_{2 m}}\right)\right)^{\alpha}\right)^{1 / \alpha} \\
& \times\left(\sum_{n=1}^{R}(R-n+1)\left(\left(q_{2 n-1}-q_{2 n}\right) \psi\left(\frac{q_{2 n-1} b_{2 n-1}-q_{2 n} b_{2 n}}{q_{2 n-1}-q_{2 n}}\right)\right)^{\beta}\right)^{1 / \beta} \tag{2.14}
\end{align*}
$$

where $\bar{C}(1,1, k, r, \alpha, \beta)$ is defined by taking $p=q=1$ in Theorem 2.1.
Proof. By the hypotheses, Jensen's inequality, and Hölder's inequality, it is easy to observe that

$$
\begin{aligned}
\phi\left(\bar{A}_{m}\right) & =\phi\left(\frac{1}{\bar{P}_{m}} \sum_{s=1}^{m}(-1)^{s+1} p_{s} a_{s}\right)=\phi\left(\frac{1}{\bar{P}_{m}} \sum_{s=1}^{M}\left(p_{2 s-1} a_{2 s-1}-p_{2 s} a_{2 s}\right)\right) \\
& \leqslant \frac{1}{\bar{P}_{m}} \sum_{s=1}^{M}\left(p_{2 s-1}-p_{2 s}\right) \phi\left(\frac{p_{2 s-1} a_{2 s-1}-p_{2 s} a_{2 s}}{p_{2 s-1}-p_{2 s}}\right) \\
& \leqslant \frac{1}{\bar{P}_{m}} M^{1 / \beta}\left(\sum_{s=1}^{M}\left(\left(p_{2 s-1}-p_{2 s}\right) \phi\left(\frac{p_{2 s-1} a_{2 s-1}-p_{2 s} a_{2 s}}{p_{2 s-1}-p_{2 s}}\right)\right)^{\alpha}\right)^{1 / \alpha}
\end{aligned}
$$

Similarly

$$
\psi\left(\bar{B}_{n}\right) \leqslant \frac{1}{\bar{Q}_{n}} N^{1 / \alpha}\left(\sum_{t=1}^{N}\left(\left(q_{2 t-1}-q_{2 t}\right) \psi\left(\frac{q_{2 t-1} b_{2 s-1}-q_{2 t} a_{2 t}}{q_{2 t-1}-q_{2 t}}\right)\right)^{\beta}\right)^{1 / \beta}
$$

Proceeding now much as in the proof of Theorems 2.1 and 2.2 and with suitable modifications, it is not hard to arrive at the desired inequality (2.14). The details are omitted here.

REMARK 2.5. Taking $\alpha=\beta=2$ in (2.14), we obtain

$$
\begin{align*}
& \sum_{M=1}^{K} \sum_{N=1}^{R} \frac{\bar{P}_{m} \bar{Q}_{n} \phi\left(\bar{A}_{m}\right) \psi\left(\bar{B}_{n}\right)}{M+N} \\
\leqslant & \frac{1}{2}(K R)^{1 / 2}\left(\sum_{m=1}^{K}(K-m+1)\left(\left(p_{2 m-1}-p_{2 m}\right) \phi\left(\frac{p_{2 m-1} a_{2 m-1}-p_{2 m} a_{2 m}}{p_{2 m-1}-p_{2 m}}\right)\right)^{2}\right)^{1 / 2} \\
& \times\left(\sum_{n=1}^{R}(R-n+1)\left(\left(q_{2 n-1}-q_{2 n}\right) \psi\left(\frac{q_{2 n-1} b_{2 n-1}-q_{2 n} b_{2 n}}{q_{2 n-1}-q_{2 n}}\right)\right)^{2}\right)^{1 / 2} \tag{2.15}
\end{align*}
$$

REMARK 2.6. By using Cauchy inequality on the right side of (2.15) twice, we obtain the following interesting Hilbert inequality with alternating signs:

$$
\begin{aligned}
& \sum_{M=1}^{K} \sum_{N=1}^{R} \frac{\bar{P}_{m} \bar{Q}_{n} \phi\left(\bar{A}_{m}\right) \psi\left(\bar{B}_{n}\right)}{M+N} \\
\leqslant & \frac{1}{2}(K R)^{1 / 2}\left(\sum_{m=1}^{k}(-1)^{m+1} p_{m} \cdot \sum_{m=1}^{K}(K-m+1)^{1 / 2} \phi\left(\frac{p_{2 m-1} a_{2 m-1}-p_{2 m} a_{2 m}}{p_{2 m-1}-p_{2 m}}\right)\right)^{1 / 2} \\
& \times\left(\sum_{n=1}^{r}(-1)^{n+1} q_{n} \cdot \sum_{n=1}^{R}(R-n+1)^{1 / 2} \psi\left(\frac{q_{2 n-1} b_{2 n-1}-q_{2 n} b_{2 n}}{q_{2 n-1} q p_{2 n}}\right)\right)^{1 / 2}
\end{aligned}
$$

## REFERENCES

[1] G. H. Hardy, J. E. Littlewood and G. Pólya, Inequalities, Cambridge Univ. Press, Cambridge, 1934.
[2] D. S. Mitrinović, Analytic Inequalities, Springer-Verlag, Berlin, New York, 1970.
[3] B. C. Yang, On Hilbert's integral inequality, J. Math. Anal. Appl. 220 (1988), 778-785.
[4] M. Z. GaO, T. Li, Some improvements on Hilbert's integral inequality, J. Math. Anal. Appl. 229 (1999), 682-689.
[5] M. Z. GaO, B. C. Yang, On the extended Hilbert's inequality, Proc. Amer. Math. Soc. 126 (1998), 751-759.
[6] J. C. Kuang, On new extensions of Hilbert's integral inequality, J. Math. Anal. Appl. 235 (1999), 608-614.
[7] J. C. KUANG, L. Debnath, On Hilbert type inequalities with non-conjugate parameters, Appl. Math. Lett. 22 (2009), 813-818.
[8] M. Krnić, J. PečArić, Extension of Hilbert's inequality, J. Math. Anal. Appl. 324 (2006), 150-160.
[9] Z. Lv, M. Z. Gao, L. Debnath, On new generalizations of the Hilbert integral inequality, J. Math. Anal. Appl. 326 (2007), 1452-1457.
[10] B. G. Pachpatte, Inequalities similar to certain extensions of Hilbert's inequality, J. Math. Anal. Appl. 243 (2000), 217-227.
[11] G. A. Anastassiou, Hilbert-Pachpatte type fractional integral inequalities, Math. Compu. Mode. 49 (2009), 1539-1550.
[12] J. Jin, L. Debnath, On a Hilbert-type linear series operator and its applications, J. Math. Anal. Appl. 371 (2010), 691-704.
[13] B. C. Yang, A half-discrete Hilbert-type inequality with a non-homogeneous kernel and two variables, Mediterranean J. Math. 10 (2) (2013), 677-692.
[14] G. D. Handley, J. J. Koliha and J. E. Pečarić, New Hilbert-Pachpatte type integral inequalities, J. Math. Anal. Appl. 257 (2001), 238-250.
[15] Z. T. XIE, A new reverse Hilbert-type inequality with a best constant factor, J. Math. Anal. Appl. 343 (2008), 1154-1160.
[16] C. J. Zhao, L. Debnath, Some new inverse type Hilbert integral inequalities, J. Math. Anal. Appl. 262 (2001), 411-418.
[17] C. J. Zhao, W. S. Cheung, Reverse Hilbert's type integral inequalities, Math. Inequal. Appl. 17 (4) (2014), 1551-1561.
[18] B. G. Pachpatte, On some new inequalities similar to Hilbert's inequality, J. Math. Anal. Appl. 226 (1998), 166-179.
[19] G. S. Davies, G. M. Peterson, On an inequality of Hardy's (II), Quart. J. Math. 15 (1964), 35-40.

